

Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
		Information	COSt
April 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
May 29, 2023	Name of Event	Seniors Day in Pictou and Pictou West	
	Location of Event	Pictou and Pictou West, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	620 km	\$ 357.74
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 357.74



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
June 15, 2023	Name of Event	LakeCity Woodworks Visit	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	13 km	\$ 7.50
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 7.50



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 21, 2023	Name of Event	AWARE-NS AGM	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	17 km	\$ 9.81
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 9.81



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 21,2023	Name of Event	Access and Flow/C3 Tour, Halifax Infirmary	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		\$ 6.00
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 6.00



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
June 22, 2023	Name of Event	NHNSA AGM	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	14 km	\$ 8.08
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 8.08



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
June 26, 2023	Name of Event	Caregivers NS AGM	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	32 km	\$ 18.46
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 18.46



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	С	ost
June 27, 2023	Name of Event	CCA-LPN Pathway Announcement		
	Location of Event	Truro		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	13 km (Drove to and from Dartmouth on the way and way back)	\$	7.50
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
_		TOTAL PER EVENT	\$	7.50



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
July 5, 2023	Name of Event	New Long-Term Care Facility Announcement	
	Location of Event	Dartmouth	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	28 km	\$ 16.16
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 16.16



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
August 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
September 2023 (NIL)	Name of Event	mormation	0031
September 2025 (NIL)	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -